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[. Multiple choice questions:

1. Which integer is greater than -5?

a) -7 b) -1 )-9 d)-11

2. How many integers are there between -8 and 2?

a)7 b) 4 Ao d)9
3.-20+20=___. a)o b) -5 c) 2
4.4+3=__. a)5 b) 8 )7
[I. Answer the following:

5. Represent the following numbers on a number line.

a) +5 b) -7 c) +8
6. Compare the following pairs of numbers using > (or) <:

a) -5010 b)-701-1 c) 8116
7. Write the following numbers with appropriate signs:

a) 150°c above 0°c b) 250m west

c) Gain of Rs. 750 d) Withdrawal of ¥100
8. Write the successor of the following:

a) 10 b) -3 c)-1
9. Write the predecessor of the following:

a)o b) -8 3
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Time: 40min
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